| N of associated (recoToSim) duplicate tracks vs hit |

[N of associated (recoToSim) tracks vs hit_]

N of reco track vs hit

o Te} o
© & N @ 4 N
= [ [ o O
o3 g g 1w
© o x o) ©
o & R 9 a8
o 1 — a — o e
_ﬂy g 5 E = 3
o & & z f
E ] I £ =
© 18 : = 8 -
19 2 £ =49
g g
B 3 -- o
Jo H :
39 £ g
-0 8 e -d<
— 3 : 3 e
g ” s
g 1 g
20 = : , - o g , - I
=] 2 =] o o e s S o o °
3 — — = z — - —
=) syoen areandnp oney L sxoeun sreandnp oney
° @ £ o o o
n < n 9 o o O
] 49 5 > ) S,
< | < T ® < &
4« & LS M e <9
Jo o= = 0¥
™ ™ 5 e
P %) 4o g8 oo
4@ Jq0 L0
N [N N
N b (3 N
Je Je 0
i — —
< -4 i
[fe] e} o]
1o _.m. o 1s
o AMV_ o o
=
O| syoen axey oney
jol
N
s
o 10 o©
N 22 A 4 4 4
N O [ 7] [
1w <o o s B g
[ o ~ - -
o 5 o4 ] 5] 8
2] m M — a — x
on 5 S 5 3
..... o BSNT g g g =
R @ O] B = o
I £ @
o () o 2
N 7_ < @
S o] g H
o g £
— m (0] = T
- E =
—n @ ]
S 2o g 2
o - - 70 8 1
- £ =
° | B
g 8
1S3 _m 4 m 4
S () 5 S
z
soel) ani oney EE sxoel aniy L syoen enn oney L] sxyoenenn
NE
—
o o e}
S o R
» J6 £l { % g 2
3 S| | & k) &
S o x b A
g = > g % ®
o — (=%
1 = < S
[e] [a] [5] ©
N m =
I 19
< =
5 (] B T i i O I e TIPS
......... ) T <
— k] a .
P ol o™
= e 2 e :
S o] Bl R R A R AR R IR RS I R
o 8 g 8 :
9 ° ° -
8 3 3 H
1S} 2 2 2 4
i 3 S ] s
z z z
syoen oney syoen oney = syoen syoen




	Contents
	Page 1


